
 

 

 

Assignment  
Class – 6th              Subject : REASONING 

Max Marks:20         Time     : 1 Hour 

 

Q.1 – 5 Which number completes the second pair in the same way as the  

 first pair? 

 

Q.1   120 : 12 : : ? : 4  
  a. 40   b. 30   c. 20   d. 10 

Q.2  81 : 27 : : 93 : ? 

  a. 30   b. 27   c. 31   d. 29 

Q.3   8 : 256 : : 6 : ? 

  a. 106  b. 202  c. 205  d. 108 

Q.4   23 : 18 : : 54 : ? 

  a. 45   b. 44   c. 43   d. 42 

Q.5   8 : 56 : : 9 : ? 

  a. 90   b. 81   c. 72   d. 89 

 

Q.6 – 10  Identify the odd one out. 

 

Q.6   a. WUV  b. ZYX  c. TSR  d. QPO 

Q.7   a. Chord  b. Diagonal c. Diameter d. Radius 

Q.8   a. 24   b. 14   c. 48   d. 18 

Q.9   a. 42   b. 21   c. 63   d. 36 

Q.10   a. 25   b. 24   c. 49   d. 64 

 

Q.11-15 Match the second pair of letters in the same way as the first pair in  

 each of the following questions 

 

Q.11 ST is to RU as WX is to ______  

  a. YV  b. VY  c. PH   d. HP 

Q.12 QN is to TK as TQ is to ____ 

  a. QN  b. NQ  c. WN  d. NW 



 

 

Q.13 ACFJ is related to ZXUQ in the same way EGIB is related to ___ 

  a. VTRY  b. WQYR  c. UTRX  d. XPQY 

Q.14 BF : HL : : EI : ? 

  a. KN  b. KO  c. JN   d. JO 

Q.15 JM : LO : : GJ : ? 

  a. HK  b. IL   c. IK   d. IM 

 


